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Subtract from multiples of 1,000

Subtraction Practice Worksheet

Find the differences.

4,000 - 1,153 =
8,000 — 3,377 =
8,000 — 4,577 =
8,000 — 3,871 =
8,000 — 7,025 =
3,000 — 352 =

5,000 — 1,709 =
2,000 — 1,346 =
4,000 — 2,572 =
9,000 — 3,334 =
3,000 — 1,557 =
9,000 — 1,725 =
2,000 — 1,990 =
7,000 — 753 =

6,000 —
9,000 —
5,000 —
4,000 —
8,000 —
3,000 —
6,000 —
9,000 —
9,000 —
8,000 —
2,000 —
9,000 —
9,000 —

7,000 —

3,341 =
7,171 =
1,467 =

405 =

4,546 =
2,910 =
1,527 =
4,322 =

589 =

2,470 =
1,443 =

324 =

200 =

2,981 =
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Subtract from multiples of 1,000

Subtraction Practice Worksheet

Find the differences.

4,000 —
8,000 —
8,000 —
8,000 —
8,000 —
3,000 —
5,000 —
2,000 —
4,000 —
9,000 —
3,000 —
9,000 —
2,000 —

7,000 —

1,153 = 2,847
3,377 = 4,623
4,577 = 3423
3,871 = 4,129
7,025 = 975
352 = 2,648
1,709 = 3,291
1,346 = 654
2,572 = 1,428
3,334 = 5,666
1,557 = 1,443
1,725 = 7,275
1,990 = 10
753 = 6,247

6,000 —
9,000 —
5,000 —
4,000 —
8,000 —
3,000 —
6,000 —
9,000 —
9,000 —
8,000 —
2,000 —
9,000 —
9,000 —

7,000 —

3,341 = 2,659
7,171 = 1,829
1,467 = 3,533
405 = 3,595
4,546 = 3,454
2,910 = 90
1,527 = 4,473
4,322 = 4678
589 = 8,411
2,470 = 5,530
1,443 = 557
324 = 8,6/6
200 = 8,800
2,981 = 4,019
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